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Global Warming Graphing Activity

CO,

Global warming is a very controversial issue. Some people are convinced that the
increase in average global temperature is directly related to the increase in atmospheric
concentrations of carbon dioxide. Others argue that the changes in the climate that we
are seeing are part of a natural pattern. In order to understand what is really happening
at present, scientists need to understand the conditions in Earth’s past atmosphere and
the factors that affected its temperature.

Directions - Use the data table
to create a graph and answer the
guestions that follow.

Carbon Dioxide Concentrations in the Atmosphere over Time
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1. What happens to the amount of CO2 in the atmosphere from 1650 to 2010?

2. When was the greatest change in CO2 in the atmosphere?



The data table below shows the temperature difference from the long-term average in degrees
Celsius between 1950 and 2010. On the grid below, construct a line graph by plotting the data in
the data table. Connect the points with a smooth line. Use your graph to answer the questions on

the next page.
Lo DTi?f?rgzrca;l;:rg) Global Temperature Difference from Long-Term Average, 1950-2010
1950 -0.19 0.70
1960 0.04
1970 0.04
1980 023 0.60
1990 0.39
2000 0.41
2010 0.67 0.50
00 0.40
ST
83
- 0.30
Eo
23
1. Describe the changes in temperature difference 020
from 1950 to 2010.
0.10
0.0
2. During which 10-year period was the greatest -0.10
change in temperatures?
0.20
1950 1960 1970 1980 1990 2000 2010

Year

Analysis Questions

1. Compare the graphs you have drawn. What do you notice?

2. lIsthere a connection between change in temperature and the amount of CO2 in the atmosphere?

3. What pattern do you think will continue as more CO2 is places in the atmosphere?



